I'a6apm'|-|b|e n npucoeguHuUTE/NIbHble padmepbl.

Ucnonnenue na nanax (B3)

¥

iy

s
Sl 59

»e

)

b

i

MRD 02/03 | 02/03 | 02/03 02 1213 | 12/13 | 12113 12 12
IEC 56 63 71 80 56 63 71 80 90 SIL
X 110 123 140 159 110 123 140 159 176
X1(B5) 120 140 160 — 120 140 160 200 200
X2(B14) 80 90 105 120 _ 90 105 120 140
Y 168 185 220 238 168 185 220 238 | 255/280
21 108 110 121 138 108 110 121 138 149
L 140/143 140 151/161 151
c 13 10
C 9
K 4.5 5
C, 20 18
A 95 110
E 115 132
vV 100 140
[ 23 38
A, 80 110
F 96 135
d 29
H 60 75
H, 111 131
H, 6.5 8
D 84
M M6x14 (7)
B 782
D, 275

603158, HuHUIM HoBropoa, ya. 3aiuesa 31. Ten. +7 (831) 410-91-58, ten/dpakc +7 (831) 223-81-81.

Cant: www.reduktor-varvel.ru, E-mail: info@reduktor.nnov.ru




MRD 23 | 22/23 | 22/23 | 22/23 | 22 22 | 32/33 | 32/33 | 32/33
IEC 63 71 80 | 90S/L | 100 | 112 | 71 80 | 90S/L
X 123 | 140 | 159 176 195 | 219 | 140 | 159 176

X1(B5) | 140 | 160 | 200 | 200 | 250 | 250 | 160 | 200 | 200
X2(B14) | — 105 | 120 140 160 | 160 | 105 | 120 140
Y 185 | 220 | 238 |255/280 | 314 | 328 | 220 | 238 | 255/280
Z1 110 | 121 138 149 160 | 172 | 121 | 138 149
L 208 190/208 190 220/253
C 13
C, 11
K 6 8.5
C. 25 30
A 130 165
E 153 195
vV 155 190
[ 37 44
A, 110 135
F 140 173
d 9 7115
H 90 115
H; 158 198
H, 10 14
D 108 130
M M6x10 (8) M8x18 (8)
B 7102 ~125
D, 95 5115
MRD 32 32 43 | 42/43 | 42/43 | 42143 | 42 42
IEC 100 | 112 71 80 | 90S/L | 100 | 112 | 132 S/M
X 195 | 219 | 140 | 159 176 195 | 219 258
X1(B5) | 250 | 250 | 160 | 200 200 250 | 250 300
X2(B14) | 160 | 160 _ 120 140 160 | 160 200
Y 314 328 220 238 | 255/280 314 328 368/410
Z1 160 | 172 | 121 138 149 160 | 172 192
L 220 305 265/305 265
c 13 15
C, 11 13
K 8.5 95
C, 30 30
A 165 195
E 195 221
v 190 215
| 44 50
A, 135 150
F 173 195
d 711.5 2135
H 115 130
H, 198 222
H. 14 15
D 130 2145
M M8x18 (8) M8x18 (8)
B ~125 ~142
D, #3115 130

603158, HuHUIM HoBropoa, ya. 3aiuesa 31. Ten. +7 (831) 410-91-58, ten/dpakc +7 (831) 223-81-81.

Cant: www.reduktor-varvel.ru, E-mail: info@reduktor.nnov.ru




MRD | 52/53 | 52/53 | 52/53 | 52/53 | 52/53 | 52/53 52 52
IEC 80 | 90S | 90L | 100 112 | 1325/M | 160 180
X 159 | 176 | 176 | 195 219 258 310 320
X1(B5) | 200 | 200 | 200 | 250 250 300 350 350
X2(B14) | — _ _ _ _ 200 _ _
Y 238 | 255 | 280 | 314 328 | 368/410 | 486 580
Z1 138 | 149 | 149 | 160 172 192 235 245
L 322 353
C 18

C 14

C. 35

A 205

E 254

v 284

| 42

A, 170

F 254

d 18

H 140

H, 255

H, 20

D 190

M M10x25 (8)

B —180

D, 213096

MRD | 62/63 | 62/63 | 62/63 | 62/63 | 62/63 | 62/63 62 62
IEC 80 | 90S | 90L | 100 112 | 132S/M | 160 180
X 159 | 176 | 176 | 195 219 258 310 320
X1(B5) | 200 | 200 | 200 | 250 250 300 350 350
X2(B14) | — _ _ _ _ 200 _ _
Y 238 | 255 | 280 | 314 328 | 368/410 | 486 580
Z1 138 | 149 | 149 | 160 172 192 235 245
L 379 410
[ 18

C, 14

C, 40

A 260

E 305

v 340

| 425

A, 215

F 300

d 18

H 180

H, 302

H, 24

D 2190

M M10x25 (8)

B —180

D, 13096

603158, HuHUIM HoBropoa, ya. 3aiuesa 31. Ten. +7 (831) 410-91-58, ten/dpakc +7 (831) 223-81-81.

Cant: www.reduktor-varvel.ru, E-mail: info@reduktor.nnov.ru




